BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x10° 5%x10° 10%

10

10 100

1

1000 10*

100

rm360 2/(409515 —5224)=0.950

L L ' ' T

i BIC 451517 91 ABIC O. OOO AlogP 0.0000 ]

3 : x 384009.56 Ax 0.000 AlogP 0.0000 -

A ——— |
[~ — = = = ==~ = =] BIC
. 2

I ABIC —83005 ]

Ax? —83005
5224 5224
A ACs
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
10 20 30 40 50 60
60 iterations

rm360 2/(409515 —5224)=0.950

e~ ' ' T 1 T T T T 1 T T T T T T ' ' 1§

F BIC 451517 91 ABIC O. OOO AlogP 0.0000 7

S Z 384009.56 Ax 0.000 ‘AlogP "0.0000 3

= 5204 o] 5224 7

L e Y A

AN N N e T

10 20 30 40 50 60

60 iterations

Fe2 6% 100+255 km/s

rm360 BLR 11590 NLR 900 km/s

- - T T - T T T 7 T T T T T T T T T T T T T T T T T T 17
—— = = = = = = = = = e = = = = = = = = —|BIR
;‘ NLR
i Fell

60 iterations

kdh1 13-0ct-2021 07:08



